FUNKTIONEN

&A“C\Qu\zg: BZuorc&nw\g ?m L

{
X —P |22 | —» [fog (Xl?(xs)

N mik Q(x)zy
x=J / P(21) 2(=8

S\QA(Q\M\S
Lieore Fuoblion: &ex) = Dx +L:——> Sdhatheunbd

‘N\'(X« AQ,(

VY\\“&. 2 Pun\k\‘z, S(K\A ho\—\bex\&(g\um Y'Ac,\nsg
\& wed A B \oesbmmem.

Q\\(E*?O\YT\O"“QW\*\;O\\% %.B, chw L(K:J’\-szi'&x*;

|

DQ?—\(\ \AD“SM% QD ol\e X A\Q QA(\(QQSGA%&; \AerdQn

[—>D R e 4:2)-2

‘\\//»‘

ABER: 2 U % / W
T - s akionol Z = e
ACH ONG ‘ &(X ) X - 4 " Fw\\:.\-iCSn def.
\/W

Nemnes doxf nidal Null oeden
REL D R\%z -3

¥ K #-2
° . o\mQ
QMQQ\‘;\A\\&\AOM K(X\ - \l %X" 2
e~ dx-2 =0
> 0 ; dx =2
3 \S\ “AO\OQA X > %

>-14

)\> owex\estSn\axvo\\



A\O\Q:Au,mg NOO \:‘m\k\.. on

A A\O\Ql\«mg - 20()3 03 die Iméemm%
.- \Q*rgkmg de—Fbmhxior\

Ab\eh
wogstegelo Yoy =x" 0exy = ¢
-—Q\()(\ -0 n-1 \ - X
X fooy= Yy
B N
{\(x) = K- X _ L x)=75= X'5
n-A 5
Ly = K% bexy = ¢ Foxy=-5x°
X (X\'—"‘b-x =
Lxy = Ly f00=0 e
\ - Xb
? (x) = 3'2.)(4 £
() Pgo b | o2
3 ‘?) av g | fwr foos Ex(-2) 3N
Qi\ ) Vog-0Q e (x=-2)
2 Q2 fooy = 6’(“('12""3’3‘7'
c(X\ . | -2312
V(x\ = KX Hoo = ?(»( 4‘25-?
= X-2)
KEW = —
CENENREGEL p ol bore Aolaikun ' ‘\ Nole; !
@ 3 g VN0 \QA\«»«R
’?(x) = (?)xz+5xj ( )
’i\(x) . 0 4
w . (6s< +5)
\f\Y\QpQA\CD\Ql\ﬂAnS\

ABere Ad\ehin <

9

Q(XW:Z\J‘WJrS‘ﬁ—
S;\( 4 %‘ (Ux+5
o = 3 b - 7 L
A N A N T




) \m.Q\muﬁg@ i 2 Oabekonnten i

L‘[> E\\m'\ nokons me'\f\'\oég

AB

Obungsdlal 5 = V1
03

;

I






